Addition
Worksheet-2

A] Choose the correct answer.

1. If a number is added with zero, then the result is:

a) Number Itself  b) Zero
c)1 d) None of these

2. 346345 + 213324 =

a) 556996 b) 669669
c) 559669 d) 559699

3. The number one more than highest 5-digit number is

a) 88889 b) 99999
c) 99998 d) 100000

4.265785+0=

a)0 b) 265785
C) 265685 d) None of these

5. Fill in the boxes

a) A=4, B=6, C=3 b) A=2, B=6, C=2
c) A=2, B=6, C=3 d) None of these

6.45+45+45+45+45+45+45+45+45+45 =




a) 4500 b) 5400
¢) 5500 d) 450

7. If the addends are added in any order then the sum

a) Zero b) One
c) Remains the same d) None of these

8. 80676 + 98765 = 98765 +

a) 98765 b) 80676
c) 179441 d) None of these

9. 8000 + 7 + 800 =

a) 8007 b) 8708
c) 8807 d) None of these

10. A garden has 475 grapes trees, 764 apple trees and 270 orange
trees. How many total tree are present in the garden?

a) 1590 b) 1509
c) 1059 d) None of these

B] State True Or False

1. 788 +1 =789

2. We can change the order of addends.

3. The sum is always greater than each of addends
4. The sum of a number and 1 is the number itself.
5. 6777 +0=6778

C] Solve the following Questions

1. In an examination, 75,236 students passed and 14,892 students
failed. Find how many students appeared for the examination.

2. There are 3,786 men, 3,672 women and 1,508 children in a village.
Find the total population of the village.




3. There are 5,873 male and 6,389 female primary teachers in a city.
Find the total number of teachers in the city.

4. A school library has 3,730 books in French, 2,531 books in
English, and 5,368 books in other languages. How many books are
there in library?

5. There are 37,536 bags of wheat, 35,380 bags of rice and 25,240
bags of gram in a store. Find the total number of bags in the store.




